6 ARBE TS ESEHIESE 23R4 AALESAARER
6 AN &R E1m3H (5~6 A9) £itx
FEER TS ] FREH XHBEA:
=[H 7a =) HE 72
HEMRE 90, 000 % 007000 HEMRE 180, 000
BHER 0 8 s 0
% 0
R3RE 272, 896 % 777 596 [R3RE 386, 380
L% 410 210 N 604
- BEEHR 0 : - BEEHR 0
AN S 33 0 AN S
& 1,080 1080 S 8, 640
BEERE 0 BEERE 0
BEEAR 6700 BHEAD 409101
NEE 397 400 AEE 903, 291
0
T 716, 956 16,056 EETE 1,814, 341
: 1485 447 0 B 3 702,357
STAERE SR Bl 1,485, 447 B g
B & H B = Z & FRER B _=
A EETS 216| BB E (Z D) _[DAISO
I [Eo) —XH MO0 EBTE (Z0M) [ a—1 — @
I [HESHALEEE BERED B2|LEEE (D) | ABER
10 _[Hes R AILEEE HREZa0 328|LIEE (Z M) |HABEE
14 $%§Fﬁ*‘=‘- THS AN |EBHEME (O [ BB
14 | EEmMRE 1A% A EHEME (F 0 [ER SR
15 | SRTRE 1AD 000[BHEFE (£ D) |[BKEHA
18 | EZBMRE 1A% A EHEME (F 0 |2 BEHAT
18 zzuaﬁﬁ&"ofkﬁ 0802 E (¥ Dth) |FEBAS
10 |[FhE ERBREE=RA) A00[[R3RE (FDh)  |BAEEHR
20 |[aE—Fv—>f S| BEFE (Z0M) |[Y=—vs R
% | ERRERE A% 248 900| N B
25 |Microsoft Office 365FIFA% ,908|FEFFATE (ZDfh) |aMoA > a2 —Ry ki
25 |I"vay. Ao B—%vy FEEH. JE—Fv— SRk 260, 032| BB E (Z0H) |[E—T LT T4
2% |EBTRE 1BD 12| EBRRE (FDI) |k SBaT
27 _|EEEE 6B 900 EHEAE B&EEH
27_|= 2 — RZERIR 260, 496| L RE (D) |BE KENRI
28 _|EBHRE 1AD 108| BB E (F D) | KT =T
28 [[ESEeRE 000 ZREHAEE (Z0i) e LR BT
28 |EER 800[ B EAE E— 20
28 [7)L (PR 6A% 148, 500| A B
28 _|EBMRE IBAD 000 ZHBHE 0l |[EAEBAT




